1. Feedback plays a bigger role in interactive systems than it does in the conventional SMCR model of mass communication.​

*a. True 

b. False 

2. In an industrial society, most people are engaged in agriculture-related work​.

a. True 

*b. False 

3. The digital divide refers to the issues that make Internet access more readily available to some people and not to others.​

*a. True 

b. False 

4. Radio talk shows and televised news reports are considered forms of mass communication.​

*a. True 

b. False 

5. ​Social media has reinforced the ability of conventional mass media to help define culture.

a. True 

*b. False 

6. Online computer games are considered a form of interactive communication​.

*a. True 

b. False 

7. A 1998 law broadened the copyright protection enjoyed by writers, performers, artists, and songwriters.​

*a. True 

b. False 

8. ​When Marshall McLuhan referred to the world of the 1960s as a “global village,” he was talking about the ability of computer-based translation programs to more easily facilitate global communication.

a. True 

*b. False 

9. ​Radio talk shows and television situation comedies are both considered forms of mass communication.

*a. True 

b. False 

10. Many people are worried that interactive media will intensify children’s violent behavior.​

*a. True 

b. False 

11. Posting a message to a friend’s Facebook wall is an example of _______________.​
*a. ​asynchronous interpersonal communication
b. ​asynchronous intrapersonal communication
c. synchronous interpersonal communication
d. ​synchronous intrapersonal communication
12. ​ In which historical period did written communications emerge as a specialized function controlled by the ruling classes?
a. ​ pre-agricultural society
b. ​ industrial society
*c. ​ agricultural society
d. ​ information society
13. ​ You send an email to a friend. According to the SMCR model, what role does your computer fulfill?
a. ​Sender
*b. ​Encoder
c. ​Decoder
d. ​Receiver
14. ​ One of the transformations caused by the convergence of different media outlets would be _____________.
*a. ​the ability to stream Netflix on your Playstation 3
b. the ability to install a satellite dish in a rural environment​

c. ​the ability to record television shows on a VCR
d. ​ the ability to watch television on a treadmill while working out
15. A lobbyist argues at a Federal Communications Committee (FCC) meeting that it is unconstitutional for Disney to own majority of stakes in the film and television industries. He wants the FCC to put a cap on how much Disney can own. How would the FCC respond to this request?​

*a. ​ They tell the lobbyist that they have no authority to control the number of stakes that Disney can acquire.
b. ​ They increase regulation of Disney’s holdings in film and television.
c. ​ They investigate Disney for potentially trying to create an oligopoly within the film and television industries.
d. ​ They tell the lobbyist that he has to file a complaint with Congress and the Federal Trade Commission (FTC) for cases that involve monopoly ownership.
16. Starting at the level of the individual and moving out to society as a whole, one encounters a series of different types of communication that relate to the size of the group communicating. What  is the correct order for this process from smallest to largest?​

a. ​ individual----small group---neighborhood----citywide—national---international
b. ​ individual----neighborhood----community---city—national---international
*c. ​ intrapersonal---interpersonal---small group----large group—mass media
d. ​ intrapersonal---interpersonal---small group---large group----international
17. ​ Communication theorists have argued that social media like Youtube and Twitter challenge the SMCR Model by _______.
a. ​ making it more difficult for individuals to pay attention to important messages related to public health
*b. ​ increasing interaction and participation in the mass communication process
c. ​ creating situations where individuals start to experience social isolation because of extended Internet usage
d. ​ creating situations where individuals can contribute more to television and print news stories
18. ​ As media becomes more interactive, it has enabled users to _______________ the messages and content of the media.
a. ​ understand
b. enjoy​

*c. ​customize

d. ​disagree with

19. In recent years, governments in countries like Egypt, Syria, and Libya have been caught shutting down the wireless Internet infrastructure in their countries during political crises. Why are they so concerned with controlling the Internet?​

a. ​ They are afraid that armed militants will use it to track government training facilities.
b. ​ They are afraid that CNN and other networks will depict their administrations as corrupt.
*c. ​ They are afraid that social media will help protestors record and disseminate footage of human rights abuses.
d. ​ They are afraid that military communications channels will be slowed down.
20. ​ Which of the following is an example of “time shifting”?
a. ​ participating in a radio talk show
*b. ​ watching a program recorded on a DVR
c. ​ conversing with friends in an Internet chat room
d. ​ engaging in an interpersonal conversation
21. Identify two of the different negative effects critics claim television often has on viewing audiences.​

Correct Answer(s):
a. It promotes promiscuous sex and violence against women; it reinforces racial and ethnic stereotypes; it can often lead to inactivity or sedentary lifestyles; it might encourage violence in young people. 

22. How did the Guttenberg printing press revolutionize communication practices worldwide?​

Correct Answer(s):
a. It was the first device that could mass reproduce the written word, making the availability of written materials balloon. 

23. Please define interactive communication technology.​

Correct Answer(s):
a. Interactive communication technology is best defined as a device that incorporates feedback from users. Some examples of interactive technologies would be laptop computers, smart phones, interactive tablets like iPads, and other Internet-enabled mobi 

24. Please identify and explain each step of the SMCR model.​

Correct Answer(s):
a. Signal: the source of a message (the person speaking); Message: the specific content of what the signal is presenting; Channel: the way the signal communicates the message (for example, television and radio are two types of channels); Receiver: the i 

25.  Give two examples of Web 2.0 technologies.​

Correct Answer(s):
a. Examples could include blogs or micro-blogs such as Tumblr, social networking sites like Facebook and Myspace, online discussion forums, customizable music sites like Pandora, or social media like Twitter, Pinterest, and Instagram. 

26. What do Facebook, wikis and YouTube have in common?​

Correct Answer(s):
a. They all have an interactive component that allows users to play a part in content creation. 

27. What is the Turing Test?​

Correct Answer(s):
a. An evaluation technique developed in the mid-20th century to test the level of artificial intelligence displayed by computers. 

28. How would you best define the concept of “technological affordance”?​

Correct Answer(s):
a. Affordance refers to the innate capabilities that are unique to a certain communication technology. For example, a computer keyboard that can be used to input commands would be an "affordance." Every communication technology has specific affordances. 

29. What is the major difference or differences between broadcasting and narrowcasting?​

Correct Answer(s):
a. Broadcasting tries to reach the largest possible audience. Narrowcasting means targeting content toward smaller and smaller audiences. It involves dedicating communication channels to specific audience subgroups, or market segments. 

30. What does the term “information society” mean?​

Correct Answer(s):
a. It is a society in which the production, processing, distribution and consumption of information are the primary economic and social activities. In such a society, information work dominates the workforce. The dominant medium in an information societ 

